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Question Number One: VOCABULARY

Choose the suitable item from those given to complete each of the following sentences and write it down in you
ANSWER BOOKLET.

. You don’t have to stay after school for the chess club —it’s .
A. optional B. compulsory C. tuition D. developed nation
. A is a country that’s economically and socially advanced.
A. optional B. compulsory C. tuition D. developed nation
. All the information shared by computers through the Internet is .
A. calculation B. World Wide Web C. smartphone D. floppy disk
. when you use maths to work out an answer .
A. calculation B. World Wide Web C. smartphone D. floppy disk
I will connect many people when I travel to China .
A. about B.on C. with D. out

Question Number Two: A - GRAMMAR - part one

Choose the suitable item from those given to complete each of the following sentences and write it down in you
ANSWER BOOKLET.

. By 1860, two men climbing two mountains.
A. will have finished B. has finished C. had finished D. finished
. After Ali at home for 10 hours, he went to his uncle's house.
A. s being B. has been C. was D. had been
I my driving test , so | can borrow his car next week.
A. have passed B. passed C. have been passing  D. will pass
Many accidents by dangerous driving every day.
A. was caused B. is caused C. are caused D. were caused

I had my computer before going to Spain.
A. had fixed B. fixed C. fixing D. fixes

Question Number Two: B - GRAMMAR - part two

Choose the suitable item from those given to complete each of the following sentences and write it down in you
ANSWER BOOKLET.

1. Mohammad checked his emails, and then he started work
B. Before Mohammad stated work, he has checked his emails.
C. Before Mohammad has checked his emails he stated work
D. Before Mohammad stated work, he had checked his emails.
E. Before Mohammad have been checked his emails, he started work
2. Linatook medical training courses in France and then she went back home.
A. Before Lina took medical training courses in France, she went back home.
B. Before Lina went back home, she had taken medical training courses in France.
C. Before Lina had taken medical training courses in France, she went back home.
D. Before Lina had gone back home, she had taken medical training courses in France.
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It is not necessary to bring your books.
The sentence which has a similar meaning to the one above is:
A. You mustn't bring your books.
B. You don’t have to bring your books
C. You can bring your books.
D. You have to play outside.
"My father worked in K.S.A last year."
The correct reported speech of the sentence above is:
A. He said that his father has worked in the K.S.A the year before.
B. He said that his father is working in the K.S.A the year before.
C. He said that his father had worked in the K.S.A the year before.
D. He said that my father had worked in the K.S.A the year before.
Najeeb Mahfouz published many novels.
The correct passive form of the sentence above is:
A. Many novels are published by Najeeb Mahfouz.
B. Many novels were published by Najeeb Mahfouz.
C. Many novels published by Najeeb Mahfouz.
D. Many novels had been published by Najeeb Mahfouz.
. You are not allowed to play outside.
The sentence which has a similar meaning to the one above is:
A. You must plays outside.
B. You must play outside.
C. You mustn’t play outside.
D. You have to play outside.
Learning medicine is more difficult than learning biology and chemistry.
The sentence which has a similar meaning to the one above is:
A. Learning biology and chemistry is more difficult than learning medicine.
B. Learning medicine is less difficult than learning biology and chemistry.
C. Learning biology and chemistry is not as difficult as learning medicine.
D. Learning medicine is as difficult as learning biology and chemistry.
. There’s less information on the website than in the book.
The sentence which has a similar meaning to the one above is:
A. There isn’t as much information in the book as on the website.
B. There isn’t as many information in the book as on the website.
C. There isn’t as many information in the book as on the website.
D. There isn’t as many information on the website as in the book.
. The correctly edited sentence is:
A. By working hard, you will earn the respect of your boss.
B. By working hard. You will iarn the respect of your boss.
C. By working hard; you will airn the respect of your boss.
D. By working hard, you will aern the respect of your boss.
. The informal sentence that contains an abbreviation is
. We’ve thought to only use a small percentage of our brain power.
. MOST doctors are used to treating patients in their clinics.
. Do you mind to suggest a healthy breakfast.
. Most Jordanian people are used to cook Mansaf in the wedding party
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Read the following text carefully, and then in your ANSWER BOOKLET answer all the question that follow.
Your answer should be based on the text.

TEXT ONE: (10 marks)

When you are using a computer, think about the technology that is needed for it to work. People have been using types
of computers for thousands of years. A metal machine was found on the seabed in Greece that was more than 2,000
years old. It is believed that this was the first ever computer. In the 1940s, technology had developed enough for
inventors to make the first generation of modern computers; one such model was so large that it needed a room that
was 167 square meters to accommodate it. During that decade, scientists in England developed the first computer
program. It took 25 minutes to complete one calculation. In 1958 CE, the computer chip was developed. The first
computer game was produced in 1962CE, followed two years later by the computer mouse. In 1971 CE, the floppy
disk was invented, which meant that information could be shared between computers. The first PC (personal compute
was produced in 1974CE, so people could buy computers to use at home. In 1983 CE, people could buy a laptop for t
first time. Then, in 1990 CE, the British scientist Tim Berners-Lee developed the World Wide Web. It was not until
2007 CE that the first Smartphone appeared. Today most people used their mobile phones every day. It is likely that a
aspects of everyday life will rely on a computer program, from how we travel to how our homes are heated.

Question Number Three

1. Different inventions were completed between 1958 and 1983. Write down two of these inventions

2. Quote the sentence which shows that the first computer was huge.

3. Find a word in the text that means (to_have trust or confidence in something or someone).

4. It is said that the Internet of Things today has greatly affected our lives, as everyone uses
computers daily, and this may have health effects on the individual life. Think of this statement,
and in two sentences, write your point of view. (4 marks)

TEXT TWO: (10 marks)

Before 1998 CE, higher education in the UK was completely free for UK citizens. Since then, tuition fees have been
introduced. Most students borrow this money from the government. They don't have to repay it immediately. Instead,
they pay it back slowly out of future earnings. Of course for most young people, living away from home means
borrowing even more money from the government. So why don’t students choose to avoid debt by staying at home,
where they don't have to pay rent? Most of them say that they want to move to the university of their choice, rather thz
the nearest one. Another strong motive is the desire to live in a new culture.

. Mention the year that the tuition fees have been introduced.

. Quote the sentence which indicates that the majority of the students will depend on the
government to fund their higher education.

. Write down the sentence which indicates to the way in which students can repay the money they
borrowed from the government.

. Quote the sentence which indicates that the higher education in UK used to be free,

. What does the underlined pronoun (it) refer to?

THE END

GoOD LUCK

T. Ahmad E. Alshatti - 0791943248
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Key Answers

Q1:

1-A, 2-D, 3-B, 4-A, 5-C

Q2-A:

1-C, 2-D, 3-D, 4-C, 5-B

Q2-B:

1-D, 2-B, 3-B, 4-C, 5-B, 6-C, 7-C, 8-A, 9-A, 10-A
Q3-text one:

- the computer chip, the first computer game, the computer mouse, the floppy disk, PC, laptop

- In the 1940s, technology had developed enough for inventors to make the first generation of modern
computers; one such model was so large that it needed a room that was 167 square meters to
accommodate it.

- Rely on

- Open answer

Q3- text two:

- Before 1998 CE

- Most students borrow this money from the government..

- They don't have to repay it immediately. Instead, they pay it back slowly out of future earnings.
- Before 1998 CE, higher education in the UK was completely free for UK citizens.

- money
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